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General Instructions to the candidates :
(1) el Femem 3T U9-I5 WX A Afamad: fod |
Candidates must write their Roll Nos. on the question paper compulsorily.
(2) |t UvT A A AT § |
All the questions are compulsory.
(3) VAT U T IR & TS ST-YREshT § & ford |
Write the answer to each question in the given answer-book only.
(4) 9 9§ TR GUE €, 39 9 % SR Uh 91 & fod |

For questions having more than one part, the answer to those parts are to be written

together in continuity.

(5) W HE@ 23 A | GEd €, 39% [T 4 3% Fuiia € | KT T Enamtes 6 ueE-aT 9
TeTeh Y ST ISTR-GREAHT o T 31a9y et ity |

Question No. 23 is related to map, it contains 4 marks. Outline map provided to you
must be attached with your answer-book after cutting from question paper.

(6) U 1T 4 TH % I, SU-YRAHT | ATCTR TAH 3 |

Answers of Q. 1 to 4, write in your answer-book in table form.
(7) ue9 9. 25, 26,27 T =R faeheq € |

In Question No. 25, 26, 27 there are internal choices.

UP-08-Soc. Sc. [Turn over



2
e 52 T ueA o IR e oo g ferfad

Write the correct option of the following questions :

1. SHUEH % g § fova o1 gt o8 39 € —

(30 == () e

() ST () o

From the population point of view second largest country in the world is —
(a) China (b) India

(c) Japan (d) Nepal

2. {ohE ST Bt HIGHT ST el S & 2

(37) TR M RSN

(W) ST eI () TR ST
Which industry is known as seasonal industry ?

(a) Granite Industry (b) Dairy Industry
(c) Jewellery Industry (d) Sugar Industry

3. TS o gl o A g 0T G oeag % o ST1eeT S 2 o' —

(30 grRfem oiedd () ekt TEdd

() TP esE @) T EHE T

For which licence Rajeev will apply when he will be able to drive vehicle ?
(a) Driving licence (b) Medical licence

(c) Shop licence (d) None of the above

4. TR 7o FRT AT | TFT [T 3t TATOHT 1 329 o1 —

(37) TSI FHTE () 3t FeTT

(@) TS IR (X) T F HE T

What was the aim of Samp Sabha foundation by Govind Guru in Rajasthan ?
(a) Political reform (b) Economic reform

(c) Social reform (d) None of the above
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5. WA Sioe W61 e o | | o T 9

In which year Indian Constituent Assembly was formed ?

6.  TTHT S TR dgH-IeF IR G@-Fiaenet T T aremi g1 qurtad & | & 2

By which modes rural people come to know about urban facilities and ostentation ?

7. EHIS = G |

Explain the Social Justice.

8. 37T 31U BX U W Soll 1 STANT i b 1T Tt FIET 7 TN hidt ?

Which modes will you apply at home for solar energy ?

9. ISR & YN T TN & 0T ol T T2 |

Draw a chart of classification of industries on the basis of size.

10.  TSTgAMT & fohel IR Aifecashri 6 et a1, ’=ei <1857 &t shifd” o &t bt R fopar |

Make a list of any four literary persons of Rajputana, who inspired the public in ‘1857

Revolution’.

11. T3 ™ usi & @ Heli runiers § qfmfed <1 9t ual & g
Choose two right post from given posts which consists in union executives :

President, Ward Panch, Prime Minister, Chief Minister, Council of Ministers, Teacher.
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12.

13.

14.

15.

16.

17.

18.

19.

4

o a M
cllen AR [epd HenlX qHRT Hs[e1dl q dedy %—?

How Lok Adalat is better than the other courts ?

O G Ul & ®9 H T % S S HEt ht adgd |

Write two important roles of Army as ‘Second Line Security’.

FH IARA | Fheg o [oTT 31T T BT 2 eI AT S |

What will you do to increase agricultural production ? Make brief plan.

T & SIHR & o ARCAT AT bl HITHH FRT UGH i T8 TAAAST =1 T |
Draw a chart of freedoms which are given to Indian citizens by Constitution of India as

“Right to Freedom”.

fermaTer foFe et & 2 TomTaTe st weiferd sheet aiTet et bt =it &L |

What is sex ratio ? Discuss the elements which effects the sex-ratio.

“UR T ATl 1eh TS 337 el ST & 1”7 SHROT Iigd T HifT |

“India is called a democratic republic country.” Clarify with reasons.

‘T TS o1 T ST I T Tl UgT 2

What were the impacts of ‘Partition of Bengal’ in National Movement ?

TS i ifeTeh TemTeT & A foad g 3eh! TieTed foreroamd srams |

Write the names of physical structure of Rajasthan along with their brief characteristics.
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20. “HICT WU % HHSIR &1 § ST FHoTl o1 [Gehrd astl | g3t | 2 S Gl Hifsa |

Art of regional states spread rapidly due to decline of “Mughal Empire”. Critique the

statement. 4

21. Eiex M qoY § B SRS SR A6l o et & AT ST |

Make a plan for navigation of small ships and boats in Indira Gandhi Canal. 4

22. SCHE I H HY URIR U Hf TerRdr § 5 TR whA & SR W ghg Sl ST Tehelt & 2 10T
FHETATHR HishaT Ty |

According to “Krishi Parashar Book™, how can we increase crop production in present

time ? Write process according to your imagination. 4

23. TSI o A H FHETiad T bl 3ifehd iy

(30 SR (@) TR

@) feritee @) IR

Indicate the following places in the map of Rajasthan :

(a) Jaipur (b) Jodhpur

(¢) Chittorgarh (d) Ajmer 4

24, 3T YA DI 9E & Y TgF W U851 IcA W & | 37T 3T I o 99 H9 @ 2

You are walking with your younger brother on road. How will you teach him traffic rules ? 4

25. YRA & ST W foifewr Hrr o T 1 au S |
AYdr
T i Raraar | fofest et #§ o7 aret Wy wemdfes uRad=r & aue S |

Describe the effect of the ‘British Company’ on ‘Indian Industries’. 6
OR

Describe the major administrative changes in the Princely States of Rajasthan in British
Period.
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26. SHUEA g F T 7 STHEEAT Jhg 3T AT A & G Bl TR A GHSA |

3Tt
Uiee [ Fed © 2 s UNeed & Hew & 9died |

What is population growth ? Explain with example the formula of calculating population

growth rate.
OR

What is transportation ? Explain the importance of Road Transportation. 2+4

27. Had T o He<d i HRUT Gied JdEd |
KIC])
TRAR T I SHoe &t [oeiarsti &1 oo il |

Write the importance of sustainable development along with reasons.

OR

Describe the salient features of Federal system in India. 6
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